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Formaldehyde
Acetaldehyde
Acetone
Acrolein

Propionaldehyde Valeraldehyde
VOC (46

Crotonaldehyde
Butyraldehyde
Benzaldehyde
Isovaleraldehyde

Tolualdehyde
Hexaldehyde
2,5-Dimethylbenzaldehyde
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Haxane

MEK

Ethyl Acetate
Chlorohorm
2,4-Dimethylpentane
1,1,1-Trichloroethane
1,2-Dichloroethane
1-Butanol

Benzene
Tetrachloromethane
2,2,4-Trimethylpentane
Heptane
1,2-Dichloropropane
Trichloroethylene
Bromodichloromethane
MIBK

Toluene

Octane
Dibromochloromethane
Butylacetate
Tetrachloroethylene
Ethylbenzene
m,p-Xylene

Nonane

Styrene

o0-Xylene

a -Pinene
3-Ethyltoluene
4-Ethyltoluene
1,3,5-Trimethylbenzene
2-Ethyltoluene

Decane

B -Pinene
1,2,4-Trimethylbenzene
p-Dichlorobenzene
1,2,3-Trimethylbenzene
D-Limonene

Undecane

Nonanal
1,2,4,5-Tetramethylbenzene
Dodecane

Decanal

Tridecane

Tetradecane
Pentadecane
Hexadecane
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3.30 TVOC(Total VOC)
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